B2 | Word Formation WF012

Use the word in brackets to form a new word that fits into each blank.

1. They suffered great on the expedition because the temperatures
were almost . (COMFORT, BEAR)

2. There is absolutely no basis for the against him. (ACCUSE)

3. The vacuum cleaner had a switch, so | sent it back. (FAULT)

4. The envelope hada” " stamp on it, so nobody else was allowed to
open it. (CONFIDENT)

5. The new invention has already been used in tests. (EXTEND)

6. The force of the earthquake led hundreds of people being killed.
(DESTROY)

7. Although he is a good student, he disrupts the lessons. (CONTINUE)

8. He can't stand having nothing to do. He's simply not used to being
(ACT)

9. The scientists have to improve the of the engine, otherwise it won't go
into mass production. (EFFICIENT)

10.The police saw that there were leading to the car. (FOOT)

11.Stalingrad was one of the battles of World War II. (DECIDE)

12.The is accused of shoplifting. (DEFEND)

13.To “brexit’ has become a word so everyone knows what you mean.
(HOUSE)

14.1t was to blame the boy for breaking the window. It wasn't his fault.
(JuUST)

15.People shouldn't’ be judged by their , but by what they have to say.
(APPEAR)

16.The authorities don't know where the terrorists got the . (EXPLODE)

17.1value his and , but this time he showed a lack of

. (FRIEND, LOYAL, JUDGE)

18.The promises that the politicians made were simply . Nobody really
believed anything. (LAUGH)

19.1tis for such a person to be in a high office. (FIT)

20.The plane crashed into the mountains and, , caused several fatalities.
(FORTUNE)
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1. They suffered great discomfort on the expedition because the temperatures were
almost unbearable. (COMFORT, BEAR)

2. There is absolutely no basis for the accusations against him. (ACCUSE)
3. The vacuum cleaner had a faulty switch, so | sent it back. (FAULT)

4. The envelope had a “confidential” stamp on it, so nobody else was allowed to open
it. (CONFIDENT)

5. The new invention has already been used extensively in tests. (EXTEND)

6. The destructive force of the earthquake led hundreds of people being killed.
(DESTROY)

7. Although he is a good student, he continuously disrupts the lessons. (CONTINUE)
8. He can't stand having nothing to do. He's simply not used to being inactive. (ACT)

9. The scientists have to improve the efficiency of the engine, otherwise it won't go
into mass production. (EFFICIENT)

10.The police saw that there were footprints leading to the car. (FOOT)
11.Stalingrad was one of the decisive battles of World War II. (DECIDE)
12.The defendant is accused of shoplifting. (DEFEND)

13.To “brexit’ has become a household word so everyone knows what you mean.
(HOUSE)

14.1t was unjust to blame the boy for breaking the window. It wasn't his fault. (JUST)

15.People shouldn't’ be judged by their appearance, but by what they have to say.
(APPEAR)

16.The authorities don't know where the terrorists got the explosives. (EXPLODE)

17.1value his friendship and loyalty, but this time he showed a lack of judgement.
(FRIEND, LOYAL, JUDGE)

18.The promises that the politicians made were simply laughable. Nobody really
believed anything. (LAUGH)

19.1t is unfitting for such a person to be in a high office. (FIT)

20.The plane crashed into the mountains and unfortunately, caused several fatalities.
(FORTUNE)
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